NTERADHB(HEBERFH

SHE—rhERER—-T7A—-3E—-AE A

K4

1) ROFHRELGESL, (4R X58=20)

1)

2)

3)

4)

5)

257.54+32. 6—5. 98

23.32+2.2%3.7

11—6. 53+7. 68

8.4X%6.3%2.6—137. 592

(53. 42+16. 67)—(101. 7—76. 22)



NTERADHB(HEBERFH

SEFE—rhERER—T7RH — 38— XNBE A

K4

2) ROFEZELLEEL, (4RX5E=201)

1)

2)

3)

4)

5)

13. 64+5. 1%6. 4

(70.91-41.27)+7.6

4,9%4, 26+7. 1

(78.74—7.1%6.2)+12. 4

72. 39+(4.08+8. 62)—4. 75



NTERADHB(HEBERFH

SFE—rhERER—7 A — 38— KEE A

K4

3) ROEHEZELGED, (ARX58E=20R)

1)

2)

3)

4)

5)

711. 3—(423. 4+287.9)

36.8+101.17+6.7

70. 122+(3. 1x2.9)

619. 2—(313. 2+156. 7+149. 3)

(21.57-19. 89+-3.9)+6. 1



NTERADHB(HEBERFH

SFE—rhERER—7RH — 38— KIE A

K4

4) ROFEZELLGEL, (4RX5E=201)

1)

2)

3)

4)

5)

53. 2%46.5—2473. 8

(103. 69+143. 83)+44. 2

1063. 1—527. 9—435. 2

(2.8%10. 9—24. 77)+56. 83

5.2%23.97+1.7-73. 32



NTERADHB(HEBERFH
SE—rhERER—T7H—-3E—&IE A
K4
5) ROFEZELLEL, (4RX5E=201)

1) (903.75+24.1)%x18.9

2) (252.6+477.8)—730. 4

3) (104.1-92.53)%7.9

4) (51.31-6.3%7.7)%9.6

5) 9.2—(77.88+52.76)+14. 2



NTERADHB(HEBERFH

SE—thFREBR—7A 38
1) ARE—@E (45 X58)
1) 1.92 2) 39.22
2) KIE—MRE (4R x5H)
1) 46. 28 2) 3.9
3) KiEg—EE (4R x5%8)
10 2) 51.9
4) KIE—RRE (4R x5H)
10 2) 5.6
5) &E—ME (4R X58)

1) 708.75 2) O

A =
3) 12.15 4) 0 5) 44. 61
A =
3) 2294 4) 2.8 5) 0.95
A =
3) 7.8 4) 0 5) 2.7
A =
3) 100 4) 62.58 5) 0
A =
3) 91.403 4) 26.88 5 0



